
1.Determine the pressure at the distance 50 m from the well if the coefficient of 

well performance 125 t/dayMPа, flow rate 12 t/day, radius of the well 0,1 m, depth of 

the well 2,1 km, liquid density at  the bottomhole 900 kg/m
3
, formation conductivity 

2·10
-9

 m
3
/Pаs, distance between the wellhead and dynamic level of the well 140 m, 

reservoir pressure 28 MPa. 
  MPahHgP dbh 305,17   
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2.Determine the pressure at the distance 50 m from the well if the coefficient of 

well performance 125 t/dayMPа, flow rate 12 t/day, radius of the well 0,1 m, depth of 

the well 2,1 km, liquid density at  the bottomhole 900 kg/m
3
, formation conductivity 

2·10
-9

 m
3
/Pаs, distance between the wellhead and dynamic level of the well 140 m, 

reservoir pressure 28 MPa. 

Data: 

r=50 m 

Ko=125 t/dayMPа 

Q=12 t/day 

rw=0,1m 

H=2,1km 

ρ=900 kg/m
3
 

ε=2·10
-9

 m
3
/Pаs 

hd=140 m 

Pres=28 MPa 
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Ko=125 t/dayMPа 
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